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6.5.6 {52 Queation Help Q

There are two red |ars of marblas and ono blue jar o marbles. Jars of a cerlain color have the sama number of marbles in thom. Thore are 43 marbloes in tolal, The
difference between the number of marbles in a red jar end the number of marblas in a bius jaris 14 Find ihe number of marbles in each type of jar.

There sre [ marbles in a rad jar.

6.5.10 188 Question Help ﬁ
Tralns Two tralns, Treln A and Train B, weigh @ tola) of 180 tons Train A 18 heavier than Train B. The difference of their weights Is 125 lons, What is the weight of
ench train?

Train A welghs D s



6.5.16 2= Quostion Help ‘n

3 1
Two balioons, Balloon A and Balloon B, have a fotal voluma of 5 gallons Balioon A has a graslar volume Ihan Balioon B, The diflerence of thew volumes is 3
galions, Whal is Lhe volume of each balloon?

The volume of Balioon A ts [ | gallon(s). (Simpidy your answer )

6.5.19 IS Quostion Help  ToF

1 5
Challangs On a fishing 1rip, Garth catchas two typen of fish, Each of Fish A weighu 1'6' pounds and anch of Fish B weigha T pound. The otal werght of sl the lish
1 1
Is \ST pounds Tha ditference in weight of all of Fish A and all of Flsh 8 Is 55 pounds Find how many fish of each lyps Garth caught.

Garth caught D of Fish A and D of Fish B
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6.5.6" $E= Question Help Q

There are two red jare of marbles ndonoNu @ |or mties, of & certin owier nave the 3 mvnunbo f marbles in them lern re 43 marbles In total, The
diffaranca batwean the number of marbins in ndj ndhq.umh of martlas in a blue jaris 14 Find the numbar of marbles in each type of jar,
Thers ar Dmu o8 in & red (ar.
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1 5
Challenge On g fishing Uip, Ganh catchas two lypen of fish. Each of Fish A weighs 13- pounds and aach of Fish B weighs T pound Tha total werght of all the fish

1 =
aliof FishB s S}- pounds Find how many fish of each type Garth caught.




